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61 1 .
u. IfE = 3 + —5 where x, y and z are natural numbers, then z is equal to

x+—5
1
yt+;

aﬁ%=3+x+L%,aﬁx,y3ﬁT 2 e FEAT® §, Y z W ¢
Y&y
a)1] b)ZJlé 413 d) 4
;

3+
U+ 1
‘_q.g\,hz. \+1




37 1
5. If1— =2+ — Where x, y, z are natural

| & x+—1

Q "2; | &V —> 2

' o?‘l‘ —_— numbers, then what is z equal to?

H'_'.. qﬁ£=2+ ! %EETX z YTohd

Ig Z 6_(_' 13 x+L1 ] /4 YI <
STR7 2 N - Yt

12 FEATE § arz fFad aE § 2

I3 2

——_'6.! 2

L L 03

d) Cannot be determined




6. If%z 3 +;1, where x, y and z are

3’%- 3‘-\- , x+y—+% |

I S 2+ —Lf natural numbers, then what is (x + y +
' g /H—"-Z z) eq::;()al to: ) )
LY W _ afe T=3+— & I x, y IR z
373 B o

';IFfﬁ?T JE&IT f, ar (x+y+2z) &l
3.1 HToT FIT 11T ?
PRleY A6 b) 7




7.1f a, b, and c are positive integers

| such that " 11 = ;—g, then what is
) Tt
;?_3_: l a/)H o) | the mean ofa,cl;riandc ?
TSN o ‘t,;_,’ Iy a, b, I ¢ vATHF iF W
= : 1 16
6 2 T Ef =g A a bl cam
" b+j
1 AT AT BN 2
1.2 a)1 )2
2705 c)1.33 d) 2.33




3. What is the value ofv121 ++/12321 + /1234321 + v/123454321?
<\/121 ++12321 + V1234321 + V123454321 &T AT FAT & ?

a) 12345  b) 123456 /12344 d) 123454

| =121
\\\\\ll %= 122372 |
RN W= 1234272 )
\234Y W = 12345432 )




9. Which of the following statement(s) is/are TRUE?
fzafaf@a & @ sla T/ s a7 T2

"V121++/12321 ++/1234321 = 1233
W1/0.64 +V64 +/36 +10.36 > 15
/mhland I

a)Only | b) On Neither | nor Il
Ll "
VL -8
Anl Ty
12273 T

|

10



19. Which of the following statement(s) is/are

TRUE?
f=fRf@a & ¥ Fild /A F99 77 T
12&2] 0.7)2 + (0.07)% + (11.1)%> > 123.8
7(1.12)% + (10.3)? + (1.05)% > 108.3
49 a) Only | _Affonly I
.0QU9 c) Both land Il d) Neither I nor II
1237049 1.1 O 25
1254y
194.09
\0R MY 49

| SSCCGL T2, 2017 | 11



\| . Which of the following statement(s) is/are TRUE?

# q FiT W/ FIT TH 87
.j-\/(64) + ,/(0.0064) + ,/(0.81) + ,/(0.0081) = 9.07
W./(0.010201) + /(98.01) + ,/(0.25) = 11.51

b)Onlyll c)Bothlandll d) Neither I nor Il

08
-9 0|
2. o,
4.07 _O%
0.5 0}

| SSCCGL T2, 21 Feb 2018 |

12



12 . Assume that V13 = 3.605 (approximately)

V130 = 11.40 (approximately)

AT @ & V13 = 3. 605 (M)
V130 = 11.40 (ST3T331)

AT 9aT F3: V1.3 + /1300 + 1/0.013

a) 36.164 b) 36.304 37 304

1350 1230

; + g\"gxlo‘D +

100 k \0000
.\UQ

36.090
{40

- 3)-304

Find the value of: V1.3 + /1300 + 1/0.013

5.172 - Sl2

d) 37.164

5172x10
=52

130
Y

|

13



1%. [162+262+362 is:
8241324182
a) 22 %Z

c)V2

d) None of these

14



y. (0:1)2+(0.01)2+(0.009)2 ]
(0.01)2+(0.001)2+(0.0009)% ~°

a) 102 /%10 c) 0.1 d) 0.01
2- T ——
0% ——)~

% : =10
- F—

D



(6.1)2+(61.1)2+(611.1)2
5. The value of \/(0.61)2+(6.11)2+(61.11)2

a) 0.1 b) 1.1 /{ 10 d) 100
| 2
o°x(__—T




16. What is the value of— + — + —— + --- upto 9 terms?

0.02 0.002
——-+ 655'+ 5555-+ .9 Sl d FT AT FIAT &2
a)zzzzzzzzz b) 111111111
555555555 d) 525252525
0 4+ 160 . looo ., 1000000000
2 2 2 o}
= 5t 504500
5 ¢V
2
55

SSCCGLT2,19 Feb 2018



7. IfA= (L) + (014) + ( L ) + -+ ........upto 8 terms, then what is the

0.4 .0 0.004
value of A?
1 1 1 *
4= (07) +(0.o4)+(0.004) + .. 89GI TF §, A A FT AT F
e
a) 27272727.5 b) 25252525.5
A 27777771.5 d) 25555555.5

A=10 _ 1oo 4 (0o
25D \41-0"\' y

115
= 25425 +2A50+

2175 ~

SSCCGL T2, 20 Feb 2018



1% What|sthesumofflrst40termsof1+3+4+5+7+7+

10
+++ ...ﬂ?\;rem
a110 &1 2030 d) 1031 )
2

+ Ol-t “4 + 19+, _ +99

9% Y;O = logo

| SSCCGL T2, 19 Feb 2018 | 19



b fA=1-10+3-12+5-14 + 7 ... upto 60 terms, then what is the value

+12-2

8

of A?
zm“. ax ¥, A awr A

a)-360 b) - 310 240 —270

-4 -q -9 30 bt

= -9x29=-270

SSCCGL T2, 21 Feb 2018



\I

La(en)

SSCCGL T2, 21 Feb 2018



l l 2
MMM

M3 5x3 ,’m%xl’a JoxI3x17

%10
MHT 4 XS
- 2T
5’9”’}175“7 21
85
S
35

$SC CGL T-2 2020 22



x 13 .
I+ _ 169 L I [1+5 =7, thenthe value of xis

A K 3"“?/1+§=§ g d x T AT 94T Y
S s s S
A A C)# d) 169




2 If l—i—E then x equals to
) 100 5’ q

x3 3 .
AR 1—m—§%?‘n'xaﬂm.

a) 2 J. Ha c) 16
-x> _ a

—

oo Q5

d) Y136




. 5.6 X 0.36 + 0.42 X 3.2
3. What is the value of ?

08x21
5.6X0§Z:(2):i-2><3.2 FT AT FT %_?
A2 b) 1 )3 d)%
- 6 4

00 56X 36 +U42 X

_ X

looo —BX 2}
B
J 60 _
2 L X ==
lo 3 2

SSCCGL T2, 2017



3.6 X 1.62+0.48 x 3.6
1.8 X 0.8+10.8 X 0.3-2.16

4. What is the value of

3.6 X1.62+0.48 x 3.6 FT AT 4T %?
1.8 x0.8+10.8 X 0.3-2.16
a) 2.4 b) 2 c)a ﬂ) 3
L Z

00 5 EHT+UR K6

(000  _I8X. &+ 108K -~
| Y ,@3 J%/
L / 4 162 +u8 ) 210 2

= - A =

[©  Y+q-6 o7




5 1f M=0.1+(0.1)2+(0.01)2 and N = 0.3 + (0.3)% +(0.03)?,
then what is the value of M + N?
Ife M=0.1 + (0.1)%2 + (0.01)2andN=0.3 + (0.3)% + (0.03)2
& a M+N &T AT FIT &2

a) 0.411009 b) 0.413131
c) 0.313131 Aﬁ\lone of these
MEN = 1+ -
. -lo
oOl + 'Oq . OOIO
. 000|+.0009 . 50!10

27



1 1 1

1
. i ?
6. What is the value of 012 + 0.01)2 + (0.5)2 + (0.05)2 °
1 L b+l FT AW T

(0.1)2+ (0.01)2 ° (0.5)%2  (0.05)2
If 10504 b) 10404 c) 10004 d) 11400
2 ooV e /10N, (100F

o).+ (@) +(¢)* ()
GMSPMGAC
= |00

[ 0000
y

Y00
o 19F

|05 01




7 Which of the following statement(s) is/are TRUE?

frfaf@a & @ a9 98 Faa a7 0
03 0.003 0.0003 0.00003
:ﬁno.z ) + (0.02) + (0.002 ) + ( 0.0002 ) =0.6
7(0.01) + (0.01)% + (0.001)% = 0.010101
a)Onlyl  b)Onlyll c) Neitherlnorll ,d‘fBoth land Il

SSCCGL T2, 2017



1 1 1 1 1,
8. 1+E+Z+;+E+5lsequalto.
A2 b) 2.5 ¢)3 d) 3.5

14 M+T+Y+2+)
Q8

= |+ 28 -

28

lSoIdier Technical 1 Nov 2020,



9. The simplified value of

(1) (12) (- 2) (1 )

<a>:9 bt AL A
‘K;,m'z \& ‘—md'llem* ;x%//x’%/x x}%;
cbm,owur\d‘m Caw\u.i
T d d lst ok . 2
Y Y\u/W\IJ"OJ'“Y Comeal (e
2

D



lo. The value of

(1+3)(1+3)(1+3) (2
i

a) 30 b) 40.5
S xHy3Sx x 121
2 F M4 20




Il Which of the following statement(s) is/ are TRUE?
fArafaf@a & @ sl aUd sy g7 T

\,41+ %) (1+ %) (1+ i)(1+ $)>497
H1adtsi-2 >t +122-72

a)Only | b) Only Il c) Neither I nor I }fﬁoth land Il

| /Z _xix--- . __a'qc' = q_q—q— = qqﬂs—
) zi“; M 9% 2
m Yy+5-2 +3,0_1 - 17T+
) M 77y 2 2
H+12-T+L +3 L = l6+)
2727y 4

SSC CGL 2017 MAINS



12 The value of (1 + %) (1 + i) (1 +

1
a)1+x+—4

2,

x+1

/ b) x + 4 c

x4z AT, X4
AT kEY XD




o (ueg) (1+9) (149 (1+) (1-3) (-9 (1-=10

1 then the value of x?

afy (1+7) (1+3) (1+5) (1+3) (1—§) (1-2) (1= Do1etay b e

3)67§ 5 )5
R

x=3




I4.  Find the sum of:

ABE Tl F:

1 2 3 n
(1-m)+(1—m)+(1—m)++(1_m)
a)n Jz %%n c) (n+1) d) %(n+1)

N+i—| A Nel-2 bt N+l M
N+ N+ N+l
= N L Nt +'_
N+l N+ N+
= Nt M=) +n-2) 4. #3342+ n+)
N+l 2 +)




1

1
5 W fX) = 2 - —

.. £(10)?
TR fX) = - =& A fO) + f2) + fB3) + ... £(10)FT AW FT ¥

9 10 11 12
V% A SC)E \d)ﬁ

then what is the value of f(1) + f(2) + f(3) +

SSCCGL T2, 09 Mar 2018



16. The value of 999% X 999 s
a) 990809 /998996 ) 999824 d) 998999

99qxaq4+94S ¢ asT

%4
= Unit d&efﬂr 6




VBODMAS Practice




I7- What is the value of" 11 [7 12 24 7

§-'£X§-O . 55f38~65] 125
6 h’ 21 ~ {6“ éxlg“‘”'a?rmmaﬁﬁm
12°'5
2 ~1891 2075 -1894 ~2075
" ’ix‘;— T [ b) o3 o1 %693
O
© :f)<,_3o x 12 7:)7+J%’)<2—2—’++3
2\ 2 77 2 3
= 8.8 - 20
E )- l60> 7 3 2

MTS, 22 July 2022 52 40



2 ?;%5 _‘E/X?:/XPS
X2 =
7728 %Z,,Z s
Lé’xf_/x —Wi/q/
= 5y
275 42 2169
4 10 yzze 3 .
z " 1560 ¥
’; %

57335225
=—X X

I8. What is the value of 1 256 285 12153 277
11 12 4-4-

5. 7.33,5_ 2. 25

11'25X28 12X3 27 & AT AT mq-l

6 5

115127 44
9670 8408 6507 9567
2) 1566 ) o5 1960 d) Ts60
2750
%8
U3¢

| MTS, 18 July 2022 S2 |

41



19. Select the number that will come in place of the

q2y27 + 23{’ 4% = g? z question mark (?) In the following mathematical
statement. ’
D 27 (8147) +% = 348l ﬁgmmwmﬁ “n“%?ﬁ () F ¥ W
_ (92x27+33x7+?)§=59
D A =Ygl a)1087 1105 1111  d)1090
- 2%76 27
| 105 €8
L6
2160
2% 16

| MTS, 25 July 2022 S1 | 42



MTS, 25 July 2022 S3



2 5 .
o0 o 21. The value of > of = of 276 — V7056 is:

ix%,m - 34 2 of 2 0f 276 — V7056 F1 AW A o]
a) 36 Y31 c)33 d) 29
= |IS -84
= 3l 80\77\1 "
84

MTS, 26 July 2022 S2



5
£
PR S TG W A
T A Q’f o 1088 //61027 1811 )
) 2oue o ) 556 945
=15 42-2
77 % M
|70
= I30+‘§‘10'60'3 = 1027 - 6%
T7%3 XY ‘—B;_

MTS, 26 July 2022 S3




23. Thevalueof(Z of4———) 5——(§x230f1+1)is:

4 3 2 4
2 1 Y
(22 of 45 +3) x 55+ (3x 23 of 5 +7) 1 #T AT FY|
ms b) 19 % c) 25 d) 21

SSC CGL T-2 2020 46



2y. Simplify —g 4+
AIATHIOT F: Op-a+p

3p—[3p-pFd—3p—(p =P
A2p+2q L b) p + 2q
c)3p+2 P-9 d)3p—q
® 3p-Pi21 @12 -2 1]
= z‘)+2cl ‘{P*CLE
‘f__/
@ [2p-9-r-1]

= [P-297

SSC CHSL, 24 May 2022 S2



25. Find the value of zin (z X 21% of 210) + (17% of 170) = 3050 + z
(zx21% of 210) ~ (17% 0of 170) =3050+2z ® z & HAMWT AT

Caiey|
a)18.4 %44.7
c)22.1 d)33.1
Z2x 21 %%y _ 3080
(7x 1,7 Z/ioxsxéi
S O
= S%_ 17x (7 x 30S
Aix2| !
=) Z = _!1_)(5)( 22
a\
= RS x| 4 O]gg - bl(,ll_‘.
2| 2| 2

48
AWO-TPO 2022 S1, 27 Oct 2022



26. Solve the following [25% + 8 + 23 — {16 + (28 of 7 + 22) — (182 + 122 of%)}]

frfaf@a a1 ga ST
252 + 8+ 23 — {16 + (28 of 7 + 22) — (182 + 122 of )]
a) 626 b) 529 c) 721 ) 579

[625 +% —{l6+(&a-’_;])-ezq++.'rgx-§|)3—‘)
[GZSH - {is+ 4q — |33J

(625+1- 47] = 579

_ CPO 2022 53, 11 Nov 2022



2. f9X40f3+2-5XQ+2x3=10,then
fin thevalue of Q.
9%x40f3+2-5xXxQ+2x3=10
v/éErm:rFrrr-ra‘?l‘f\?rtq
10

b) 5 c)0.1 d) 0.2
qyizxl —B58&+6 =10
2
3 54Y+6-10= 58§
=) so =8
)

SSC CHSL, 8 June 2022 S1



é 28. What is the simplified value of the following?
AxFTxl 4 L x35 3 — 1.7 (5 6
429 436+ A 24+-16—-10+36 - (5+20 ~4—-1)
% frafaf@a w1 wellda A Far 872
3 _— 1 7 5 6
L 24 -16-10+36 = (5+20 =4—1)
444 40 S A 51
a)7 ‘m56 c)40 d)56
= 5 -5
Ix 8 56

| SSCCGLT1, 19 Apr 2022 Sﬂ 1



29. Simplify the following expression.
9l. (16——12——9 2)+1750f 3}
5 21

he - f(8 . I').+ -9- 3—5' 6-'7
5 { 52 /y),, " sl FT A T
JHe g8 ity [ﬁg} 91;{(16—;12——9—)+17Eof31}
L} 5 3 3 139 137 140 138
= '15 - {8'+ 80’0} ) 881 ) 881 ) 881 4 881
S 15
= 46 ¢ 153 _ 138
5 88| 88l

SSC CHSL, 26 May 2022 S3 52



A P R S i A o L
—;_7-— 51; 4 = 4 Then what is the value of A ?
gy [38:2 (3 (233 +4a+4=0,
= ;‘—__3_‘-% _ __% HTA[H'TFHT;I'QQ{]TEQU(IT?LL 2)}]+
a) 6 /ﬁfs c) 4 d)9
=) 2-12 ¢S —_ﬁ
Y 1
5 -s__A
1 4

SSC CHSL, 26 May 2022 S1



3l. whatisvalue of 12 -8 +-2 — {16 0of -2 + 3 X 5 — 4}?

12-8+2— {16 0f —2+3 x5 — 4} FT AT F4T g?
a) 0 b1 f29 d) 45

-4 -{-22 +154§
= g +32-(
=3 &q

SSC CHSL, 10 June 2022 S2



0.6x0.6+-0.3+0.2x0.3—-0.6

32. Whatis the value of ?

> 0.6x0.6-0.3+0.2x0.3—0.6 0'1XO'E%;T 9

b x| g 2x.3 —.b 0.1x0.2+0.4 T AlA :
= a)15.2 b) 14.6 ﬂl& 2 d)12.5
!
el X /Zx/_%_ (26
—.b
- _12+.06-.6 _ 66x29_ 55 66

[ (5325%(

S0




8 0 e i m
= 1+ 8 x [lOS"l—"l'-lo-r'-!s
& 528
= 1 +% x llos
3 U Epec

2904

‘)

254 + Y420 _ 96|
2904

33

What is the value of %+% of |——

5 5 7
— N T |
12 +'(11 12 +'22)]'

(16

33 5

7 8 i
i °f [E_EJ’(E_EJ“Z)_ T

HTel AT

5) 6871
3605
6907

) oy
3971

MTS, 13 July 2022 S1



34. What should come in place of the question
mark (?) in the following equation?
2 - 16uo (7)%47+123 = 13% 4+ 222 4+ 2715
r+x = fArfaf@a gfletor & wea REa (?)
?
HYont’ urid died o & T 9T FIT AT IR
ek opUons” uamd U7 (7)2+7 +123 = 132 + 222 + 2715

holve c[uod eqn . a) 38 /)40L c) 34 d) 50
b) YD>+40 = [640 64
< ygYy
x(x+l)= l6u0 2718
diff= | Prod = l6wo - 1128
XA O | 64 O
X
uo Ty




%(qqx[o‘ — Yy 6) %1, + L%Q/O 35 Select the number that will come in place of
the question mark (?) in the following

mathematical statement.

= a3 2 49 x 57 — 41 x 18 = (2)% x 3 + 1380
-246 = o AT & et Riewt & T W
—uee Fla-dt TE&AT 3T TEFAT 72

a2 49 x 57 — 41 x 18 = (2)2 x 3 + 1380, (?)
" ihs b) 21 c)3 d)7
=) \$ 7
76
171
_/
93

MTS, 25 July 2022 S2 58



36. Simplify [7% + {1% — %(2 % — ?%)}] =+ G of 8%)

75+ 15-3@5-5-D = Gorsg) = s

hifarT|
b43.2  ¢)23.6 d)4.26

SSC CHSL, 25 May 2022 S2



37. Thevalueof1 +[1+1-+-{1+1-+(1+4+1=2)}]i
a)1 /ﬁ)g 02

\\
x
wivi

ACC 125 ACT Aug 2021
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